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Problem 1: Determine the avefage ,iclally dlg

 day for a community having a populatuﬂ

Pmblem s A housmg scheme has 50 plots w1th "3 p Sr

total aﬂveiag aind maxunum demand of scheme‘? _‘;W:-

Problem =]
pelsens , use a total amount of water 7,546,600 11}3 dmm

\“ I !
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{—sﬁmate the peak hourly demand fm thé pbpl, lg or

\U‘al”

P1oble1n 4: Esﬁmate the ave1 age daily rate maxnmun
homly 1ate fm the populatmn of 58,000 per sons._
- water 9,526,500 m? chmng 12_‘1110‘11'[115 ; “]\ |
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Problems-Water Demand & Fire Flow
?i?;::rrPJ:c!fE[en:l 7 Clty w1fh¢»resent populatlen 5“8000 persons used a fotal ﬂow

yearswhen the populatlen is estnnated to be 72500 persons
Pr eblem& C alculate avelage daﬂy demand and peaL homly demand for a

= ;J_llrolifem@) Detennme the fne flow 1equned for a tlnee storey building with a

= Jfainxed area of 700 m2 and wood frame construction. If this building dictates a fire |
éT[nwfm the community of 78000 persons with the average water consumption of
= éﬁipcd What will be the maximum daily demand including fire flow.

,fﬁlrobf em 10 :Determine the fire flow required for the community of 22000 person
 has an average consulnpnon of 600 Ipcd. The fire flow is dictated by a building of |
: "fexdm:aiy construction with a floor area of 1000 m2 and height of 6 stories. Find total
: flew&:emined duln}e the da} oi fire.
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c;utal _ﬂow _fo:r a

Ecommumty af populatlon 30 000 pel ons \
‘ﬂa peak hour ﬂow the ﬁ:re demand ﬂo \

"“790 m2 C) 400 m2 Determme ﬁie ﬂo_ alld"'dfa dai
_‘.dmanan of ﬁre ﬂow ' |

'i‘;Plobieml 3: Cnnu111uutyr,, o

quuement for the folldwll g Ld mnum 1&@” )
persons with. 150 lpcd b) 55000 persons with 170 lepd ¢ 120_00 _‘ rSO1S W
:lpcd havmg?l s%mey bulldmg w1jth a)OldmaI ' construction b)we
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Problem Population forecastng =
‘Problem 18: A city had a populatlon of 210000 in 1991 and 2400
_2001 If the city 1s assumed to follow authmetlc Iate of growth fm
‘population of the city in 2018 e e -
Problem 19: Present (2015) populatlon of c1ty is 1’%50000 and
expected to grow at a uniform rate of 3% per annum Fmd ItS popul ion
in 2033. | e
Problem 20:A community has experienced the grthh‘ in p't)-pli ati
water use as shown in table. Estimate the populaﬁon pel cap a
use and average daily water demand in the yea1 20%0

1990 2000 2010
11300 14600  184C
ik .

population i
WC(m3/d) 2270 2720
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